o
I

H

Mmoo FE

TS FEETEE GhEmX) At -12m) EXERE

St 5 B R

s %  TE#

5 B ZEEEXRE
=1 B EEREE
BoMa RERHE
HEEZS 18-10-23-030



BEANRE SFNSEE TS (FHhK) st (-12m) MSEE

% 5 B - kT By # B B & @& =
EEREE 1,996, 116
R 1,996, 116
R 1,996, 116
WRiEE 1,935,116
FEER 559, 584
1 EEER 1.00 559, 584 559, 584
=
WRiEE 867, 473
2 #f - fas 1.00 399, 155 399, 155
4
3 HREE —RIFE WAHRA 14.90 26, 609 396, 474
km
4 WSIREE BREE mAM 2.70 26, 609 71,844
km
AT 331, 959
5 ERAEW —REE 9.20 32, 545 299, 414
km
6 EHAEMT EREE 1.00 32,545 32,545
km
s - |/E 176, 100
VEES T 1.00 58, 700 58, 700
=
8 hRRE 1.00 58, 700 58, 700
=
9 RIRRE 1.00 58, 700 58, 700
=
EERE 61,000




BEANRE SFNSEE TS (FHhK) st (-12m) MSEE

% R R& - WAKSTE BfL - B ' # m o=
[EES 19, 000
10 XBHER 1.00 19, 000 19,000
=
Z 0t 42,000
1 EIRERE 1.00 42,000 42,000
=




wiEE SIS TR () S (-1 2m) RUAIRE

% g - AKTiE Bifr B 2 B i & #B w E
EERAEE 868, 090
ERE 868,090 x 85.9% — 3,779 741,910
HEEHRE 868,090 + 741,910 1,610,000
E R 1,109,026 + 19,000 1,128,026
EEAGE 1,109, 026
EEEE 19, 000
T DAt 1,109,026 x 53.85% ( 35% = (1 — 35%) ) 597,210
EHRIE 1,128,026 + 597,210 1,725, 236
—REBRES 1,725,236 x 53.85% (35% + (1 — 35%) ) — 4,275 924,764
R EBR 1,725,236 + 924,764 2,650, 000
KB 1,610,000 + 2, 650, 000 4, 260, 000
HBETEALE 4,260,000 x 10.00% 426,000
HIREXBE (TR 4,260,000 + 426,000 4, 686, 000




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

=1
2% - REER =1
£ 7 R - KT By = B Of € # %

HEnR

A 1.00 70, 900. 00 70, 900
F{EHED (55

A 2.50 62, 200. 00 155, 500
HEn (A)

A 2.50 55, 200. 00 138, 000
HER (B)

A 1.00 45, 300. 00 45, 300
A (C)

A 0.50 35, 600. 00 17, 800
BIEFEHED

A 1.00 51, 000. 00 51,000
B S HER

A 1.00 44,000. 00 44,000
B = H AR

A 1.00 34, 300. 00 34, 300
AR L NOY

% 0.50 556, 800. 00 2,784
= 5 1YE%HeH - 1.00K 559, 584. 00 559, 584




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

&S :2
B - EfE - B Ik ED)
£ 7 R - KT By = B Of € W E B &
REE S4 kY 2L
B 1.00 3,252.00 3,252/2.00H / 8H
WMSIEERAR HMRMEERIZEEa L, HIE28. RS
B 0.50 23,925. 00 11, 962
EIEE D 200PSEY
B 0.25 177,149.00 44,2876.00H / 8H
AEEMR FRP
B 0.75 58, 410. 00 43, 807 8H
F{EHED (55
A 0.75 62, 200. 00 46, 650
HEn (A)
A 1.13 55, 200. 00 62,376
HER (B)
A 0.88 45, 300. 00 39, 864
B S HER
A 0.50 44,000. 00 22,000
B = H AR
A 0.50 34, 300. 00 17,150
BIEBF
A 1.50 32, 200. 00 48, 300
BIEHEE
A 1.50 217,000. 00 40, 500
AR =L NOY
% 5.00 380, 148. 00 19, 007
= 5 1YEZHEH - 1.0048 399, 155. 00 399, 155




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

&S :3
B BRIFEE —XIFE mAM 1B&HY (24.6km)
£ 7 R - KT By = B Of € W E B &
REE S4 kY 2L
B 1.00 3,252.00 3,252/2.00H / 8H
EIEE D 200PSEY
B 1.00 177,149.00 177,149 6. 00H / 8H
AEEMR FRP
B 1.00 58, 410. 00 58,410 8H
WMSIEERAR HWRMEERIZEEa (L., EIEES.
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 62, 200. 00 62, 200
HEn (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45, 300. 00 45, 300
B S HER
A 2.00 44,000. 00 88, 000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
AR =L NOY
% 2.00 641, 767. 00 12, 835
= 5 YEZRESN 1 24.60km 26, 609. 00 654, 602




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

£2 .4
&2 MREE #RZFEE mAR 1TH%Y (24.6km)
£ i R - TR~k B {5 g B & 4 = " &=
REE SA4 kR 2L
=] 1.00 3,252.00 3,252/2.00H / 8H
EHED D 200PSE!
=] 1.00 177, 149. 00 177,149 6.00H / 8H
EESM FRP
=] 1.00 58, 410. 00 58,410 8H
MSIEERS MRIEEREEI L. BIES.
=] 1.00 23, 925. 00 23,925
GNSSRIfI S & DGNSS
=] 1.00 25,575. 00 25,575
BE R 1AM®  100kHz
=] 1.00 9, 256. 50 9, 256
FAEHEM (GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45, 300. 00 45, 300
B S HER
A 2.00 44,000. 00 88, 000
BIE R
A 1.00 34,300. 00 34,300
BIEBNF
A 1.00 32, 200. 00 32,200
BIEWEE
A 1.00 27,000. 00 27,000
MR =730
% 2.00 641, 767. 00 12, 835
A& F VEERESN - 24.60k m 26, 609. 00 654, 602




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

E =)
2 . BB —RIFE 100k m& Y
£ 7 R - KT By = B Of € # B &
FEHED (55
A 12.00 62, 200. 00 746, 400
HEn (A)
A 16. 00 55, 200. 00 883, 200
HER (B)
A 16. 00 45, 300. 00 724, 800
B S HER
A 8.00 44,000. 00 352, 000
B = H AR
A 8.00 34, 300. 00 274, 400
BIEBF
A 8.00 32, 200. 00 257, 600
AR =L NOY
% 0.50 3, 238, 400. 00 16,192
= 5 YEZERES : 100.00k m 32, 545. 00 3, 254, 592
ES:6
2 . BERBFT HRFE 100k m& Y
£ 7 R - KT By = B Of € # B =
F{EHED (55
A 12.00 62, 200. 00 746, 400
HEn (A)
A 16. 00 55, 200. 00 883, 200
HER (B)
A 16. 00 45, 300. 00 724, 800
B S HER
A 8.00 44,000. 00 352, 000
B = H AR
A 8.00 34, 300. 00 2174, 400
BIEBF
A 8.00 32, 200. 00 257, 600
AR =L NOY
% 0.50 3, 238, 400. 00 16,192
= 5 YEZERES : 100.00k m 32, 545. 00 3, 254, 592




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

&5 .17
2 . BATHE 1EHY
£ 7 R - KT By = B Of & | W E B &
FEHED (55
A 0.50 62, 200. 00 31,100
HEn (A)
A 0.50 55, 200. 00 217,600
= it {EZ8ER - 1.00ME 58, 700. 00 58, 700
%5 :8
AT hEERE 1EHY
£ 7 R - KT By = B Of & | W E B =
FEHED (55
A 0.50 62, 200. 00 31,100
HEn (A)
A 0.50 55, 200. 00 217,600
= it 1YEZHER - 1.00[E 58, 700. 00 58, 700
59
2% . ZB|E 1EHY
£ 7 R - KT By = B Of & | W E B =
F{EHED (55
A 0.50 62, 200. 00 31,100
HEn (A)
A 0.50 55, 200. 00 217,600
= it {EZ8ER - 1.00mE 58, 700. 00 58, 700
H5:10
B EBBRR 15ty
£ 7 R - KT By = B Of & o W E B =
XBRRRE
= 1.00 19, 000. 00 19, 000
= it 1EZBER - 1.00 19, 000. 00 19, 000




Rifiz -/ \v7r—o

DISEETEE FEME) At (-12m) HKIFEE

&H5: 11
AF : EIERERAE 1Ky
2 Lo R - KT By = B Of ol | W E B &
EIXREHRE
= 1.00 42,000. 00 42,000
& B EZBER - 1.00= 42,000. 00 42,000




